chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig1 and tomato chid

chixz

00400

1 D407 2 0e4 07 3 0s407

Ig1

Tobaceo lg1 and tomato ehidd

chis

1 D47 2 D07 3 0e407

Ig1

Tobacco Igi1 and tomato chd?

chie

1 D47 2 0e407 3 0s407

Ig1

Tobacco Ig1 and tomate chi0

chi1

Ig1

O 0 207 dedd7T  GesdT

Dm0 Dedd7T  desd7 ST

Tobacco Ig1 and tomato chO2

Tobaceo Ig1 and tomato chOs

2 D407 30e407

lg1

Tobacco Igi1 and tomato chCE

Tobacco Ig1 and tomato chid

Ig1

chiz

chia

chim

chiz

Tobacco Ig1 and tomate chO3

SE4lT dEddT ST
| 1 1

[t ]
1

0 Os400

1 D407 2 0e4 07 3 0s407

Ig1

Tobacco lgi and tomato chos

0 Q400

1 D47 2 D07 3 0e407

Ig1

Tobacco Igi and tomato choE

Se4lT  desdT SesdT
1 l ]

D0
1

Tobacco Ig1 and tomate ch12

SE4lT deEddT e
1 1 1

DT
|

Ig1




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco 192 and tomato chid

00400

Tobaceo 192 and tomato ehidd

5 D00

1 D07 1 S 7 2 0407

Ige

Tobacco Ig2 and tomato chd7

LS

L

B D400

1 D07 1 S 07 20407

Ige

Tobacco 192 and tomato chi0

B D00

1 D07 1 S 7 2 0407

chixz

chis

chie

chi1

Tobacco 192 and tomato chi2

2o 0T deadT Seg 07
1 1 1

D=y 00
1

0 e+ B O+ 1 =407 1 S=4007 2 Oe4 07
g2
Tobaceo 192 and tomato chOs
T |- T T
0 O+ B O+ 1 D407 1 Sea7 2 Oe4 7
lge
Tobacco Ig2 and tomato chCE
T T T T
0 O+ B D=+ 1 D407 1 S 07 2 Oe4 07
Ige
Tobacco Ig2 and tomato chid
T T T T
0 e+ B D=+ 1 D407 1 S=a7 2 Oe4 7
g2

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco 192 and tomate chO3

0 000 & O 1 Dea 7 1 S 2 D7
g
Tobacco 192 and tomato chos
T T T T
0 040 B Dm0 1 De407 1 Fmai? 2 Oel7
g
Tobacco Ig2 and tomato choE
- e #
= T T T T
0 0=400 B 0= 1 0e407 1 S=407 2 0E407
[==
Tobacco 192 and tomate ch12
T T T T
0 00 B O 1 Deai07 1 Semaia? 2 Oemil7
g



chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig3 and tomato chid

18407 2407 Be407

I

Tobaceo lg3 and tomato ehidd

1e+07 Ze47 ST

I

Tobacco Ig3 and tomato chd7

1e4+07 2e407 Sa07

Iga

Tobacco Ig3and tomato chi0

chiz

chis

chie

chi1

Tobacco Ig3and tomato chO2

wi

2o 0T deadT Seg 07
1 1 1

Tobaceo 193 and tomato chOs

D=y 00
1

S 07 deddT  GegddT
1 1 1

Te+07 2e407 Se4l7T

I

Tobacco Ig3 and tomato chCE

Dl 000
1

Te+07 2e407 3E407

Ig2

Tobacco Ig3 and tomate chid

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco Ig3 and tomate chO3

Tobacco lg3and tomato chos

-,

Tobacco lg3and tomato choE

Tobacco Ig3 and tomate chi2




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig4 and tomato chid

k
B I I T T | T T
0 O+ 1 Oe4007 2 Oe4 07 30=407
g
Tobaceo lgd and tomato ehiid
B I T T T | T T
0 O 1 Oe407 2 Oe4 07 3 0=
I
Tobacco lgd and tomato chd7
B I I T T | T T
0 O 000 1 Oe407 2 Oe4 07 3 0=H07
It
Tobacco Igd and tomato chi0
B I I T T | T T
0 O 4000 1 D=7 2 Oe4 7 30=+07

chixz

chis

chie

chi1

O 0 207 dedd7T  GesdT

Dm0 Dedd7T  desd7 ST

Tobacco Igd and tomato chOo2

(0 4000 1 De4i07 2 =407 3 =407
It
Tobaceo Igd and tomato chOs
T T ] T T T !
0 =400 1 O=4i? 2 =47 3 =407
o
Tobacco Igd and tomato chCE
T T [ T T T I
0 400 1 D=4i7 2 407 3 =407
I
Tobacco Ig4 and tomato chid
T T [ T T T I
{0 e 00 1 D47 2 ey 17 3 ey 17

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco Igd and tomate chO3

0 0=+ 1 0=4007 2 0=407 30=407
I
Tobacco lgd and tomato chos
! T T T |
0 =0 1 0e407 2 OeT 3=
I
Tobacco lgd and tomato choE
I T T T |
0 =m0 1 0e407 2 0= Q0=407
lep
Tobacco Igd and tomate ch12
I T T T |
0 =0 1 0= 07 2 0=407 30=+07



chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco 195 and tomato chid

0 O+ 5 D=0 1 Oe4007 154007 2 Oe4 07
g
Tobaceo 195 and tomato ehidd
I T T T
0 O B O 1 Oe407 1 8e407 2 Oe4 7
g
Tobacco Ig& and tomato chd7
] T T T
0 O 000 B D=0 1 Oe407 1 8=407 2 Oe4 07
I
Tobacco 195 and tomato chi0
] T T T
0 O 4000 B D=0 1 D=7 1 8=407 2 Oe4 7

chixz

chis

chie

chi1

Tobacco Igband tomato chO2

2o 0T deadT Seg 07
1 1 1

D=y 00
1

0 e+ B O+ 1 0407 13407 20407
e
Tobaceo 195 and tomato chOs
T T T T
0 O+ B Dm0 1 0407 1 8407 2 Oe407
lgm
Tobacco Igs and tomato chCE
T T T T
0 O+ B D= 1 0407 13407 20407
Ig®
Tobacco Igh and tomato chid
T T T T
0 e+ B Dm0 1 =407 1 3407 20407
e

chiz

chia

chim

chiz

Tobacco 195 and tomate chO3

SE4lT dEddT ST
| 1 1

[t ]
1

Se4lT  desdT SesdT
1 l ]

D0
1

SE4lT deEddT e
1 1 1

DT
|

0 0=+ 5 D=0 1 Oe4007 154007 2 0=407
g
Tobacco lg5and tomato chOs
T T T 1
0 =0 B O 1 Oe407 1 8e407 2 0eT
g
Tobacco Ig5and tomato choE
T T T 1
0 =m0 B D=0 1 Oe407 1 8=407 2 0=
I
Tobacco 195 and tomate chi2
T T T 1
0 =0 B D=0 1 D=7 1 8=407 2 0=
g



chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig6 and tomato chid

00400

Tobaceo lg6 and tomato ehild

Tobacco g6 and tomato chd7

Tobacco Ig6 and tomato chi0

chiz

chis

chie

chi1

Tobacco 196 and tomato chO2

Tobaceo Ig6 and tomato chOs

2o 0T deadT Seg 07
1 1 1

D=y 00
1

Tobacco Ig6 and tomato chCE

S 07 deddT  GegddT
1 1 1

Dl 000
1

Tobacco Ig6 and tomato chid

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco Ig6 and tomate chO3

L Y

- -,
#
1 | - I I I 1
0 0=+ 1 0407 2 Oe4 07 30=4+07
g
Tobacco lg6 and tomato chOs
] ] I } } 1
0 =0 1 0407 2 Oea7 3 OsH07
g
Tobacco lg& and tomato choE
1 | I I I 1
0 =m0 1 0407 2 Oe4 07 q0sH07
e
Tobacco Ig6 and tomate ch12
1 | I I I 1
0 =0 1 =407 2 Oea 7 3 0=+07
g




chl

chid

chor

chio

Tobacco 197 and tomato chid

o407 dEa 07 ST
1 1 1

O 00
1

2e407  deg 07 Gel07
1 1 1

xRN ]
1

Ze407  de 07 ST
1 [ 1

e
1

f_
T T T T ‘|
0 O+ 1 Oe4007 2 Oe4 07 3 Oe4 007
lg7
Tobaceo lg7T and tomato chidd
T T T T T
0 O 1 Oe407 2 Oea7 3 Oe407
lg?
Tobacco Ig7 and tomato chd7
T T T T T
0 O 000 1 Oe407 2 Oe4 07 3 Oe407
g7
Tobacco 19T and tomato chi0
T T T T T
0 O 4000 1 D=7 2 Oea 7 3 Oe4 07

chixz

chis

chie

chi1

Tobacco 19T and tomato chO2

2o 0T deadT Seg 07
1 1 1

D=y 00
1

S 07 deddT  GegddT
1 1 1

Dl 000
1

0 e+ 1 0407 20407 30407
g7
Tobaceo 19T and tomato chOs
1 T T T T |
0 O+ 1 0407 2007 3 Oe+07
g7
Tobacco IgT and tomato chCE
I I I T T |
0 O+ 1 0407 2 Os407F Q0=+
lg7
Tobacco IgT and tomato chid
I I I T T |
0 e+ 1 =407 2007 30407

chiz

chia

chim

chiz

Tobacco 197 and tomate chO3

SE4lT dEddT ST
| 1 1

[t ]
1

Se4l7  4e407  BesdT
I I i
'

D0
1

SE4lT deEddT e
1 1 1

DT
|

0 0=+ 1 Oe4007 2 Oe4 07 30=407
lg7
Tobacco lg7 and tomato chOs
T T T T T I
0 =0 1 Oe407 2 Oe4 07 3 0=
lg7
Tobacco Ig7 and tomato choE
T T T T I I
0 =m0 1 Oe407 2 Oe4 07 0=
g7
Tobacco 197 and tomate ch12
T T T T I I
0 =0 1 D=7 2 Oe4 7 30=407




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Ze407  de 07 ST

Tobacco 198 and tomato chid

Tobaceo |98 and tomato e hidd

Tobacco Ig8 and tomato chd7

Tobacco 198 and tomato chi0

chixz

chis

chie

chi1

2o 0T deadT Seg 07

Tobacco 1g8 and tomato chi2

O0s+00 B0s+08  10e407 185407 208407 285s407
2
Tobaceo Ig8 and tomato chOs
T T T | ] T
O0s+  B0s+408  10e407 1850407 208407 28407
Ige
Tobacco Ig8 and tomato chCE
T T T | ] T
O0s+ B0s+08  0s407 18407 208407 28407
Ige
Tobacco Ig8 and tomato chid
T T T | ] T
O0s+ B0s+08 10e407 185407 20407 28=407

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco 198 and tomate chO3

0 Os400

S0s40 108407 158407 Z0s407 ZSs40T

I

Tobacco 198 and tomato chOs

0 Q400

Glesd 108407 1852407 208407 Z5e407

I

Tobacco Ig8 and tomato choE

00400

Blssn 108407 1 8Ssd07 208407 ZSs407

Ige

Tobacco 198 and tomate ch12

0 Q400

Blssdd 108407 18e4d7 208407 Z5e407



chl

chid

chor

chio

Tobacco 199 and tomato chid

00400

5 0=4-00 1 D407 1 S 07 2 0s407

Ige

Tobaceo 199 and tomato e hild

o407 dEa 07 ST
1 1 1

O 00
1

5 D00 1 D07 1 S 07 2 D47

Ige

Tobacco 199 and tomato chd7

2e407  deg 07 Gel07
1 1 1

xRN ]
1

B D400 1 D407 1 S 07 20s407

lg=

Tobacco Ig9 and tomato chi0

Ze407  de 07 ST
1 [ 1

e
1

B D00 1 Qe 07 1 S 07 2 0e407

chixz

chis

chie

chi1

Tobacco 199 and tomato chO2

OO0

5 D00

108407 1 Se407 2 0s407

Ige

Tobaceo 199 and tomato chOs

2o 0T deadT Seg 07
1 1 1

D=y 00
1

5 Oe 00

1 D07 1 Sed07 Z 0e4 07

Ige

Tobacco 199 and tomato chCE

S 07 deddT  GegddT
1 1 1

Dl 000
1

5 D00

1 0407 1 5e407 2 0s407

g2

Tobacco Ig2 and tomato chid

5 D0

1 D07 1 Ses07 2 0e4 07

chiz

chia

chim

chiz

Tobacco 199 and tomate chO3

SE4lT dEddT ST
| 1 1

[t ]
1

0 Os400

5 0=4-00

1 D407

Ige

1 S 07

2 0s407

Tobacco g9 and tomato chos

0 Q400

5 D00

1 D07

Ige

1 S 07

2 0e4 07

Tobacco lg9and tomato choE

Se4lT  desdT SesdT
1 l ]

D0
1

00400

B D400

1 D407

=2

1 S 07

20s407

Tobacco 199 and tomate chi2

SE4lT deEddT e
1 1 1

DT
|

0 Q400

B D00

1 Qe 07

1 S 07

20e407




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig10 and tomate chi

00400

2 s 07 3 0s407

Igio

Tobaceo Ig10and tomate chid

1 D07 2 D407 3 0e4 07

Igio

Tobacoo Ig10and tomato chOF

-

1 0407 20407 3 0e407

Igio

Tobacco Ig10 and tomate chil

1 D07 2 0407 3 0e4 07

Igio

chixz

chis

chie

chi1

Tobacco Ig10and tomato chO2

2 0e4 07 3 0s407

Ig1o

Tobaceo lg10and tomate chOs

2o 0T deadT Seg 07
1 1 1

D=y 00
1

2 D07 3 0e4 07

Igio

Tobacco lgi0and tomato chCE

S 07 deddT  GegddT
1 1 1

Dl 000
1

2 0e407 30407

Igio

Tobacco Ig10and tomato chid

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco Ig10 and tomate cho3

0 Os400

1 D407 2 s 07 30s407

Igio

Tobaceo Ig10and tomate chis

0 Q400

1 D47 2 D407 30e407

Igio

Tobacoo Ig10and tomato chCE

=y

00400

20407 30=407

Igio

Tobacco Ig10 and tomate chi2

1 Q=407 2 0407 30s407

Igio




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig11 and tomate chiH

0 O+ 5 D= 1 =407 152407 20407
Igi1
Tobaceo 1911 and tomate chid
T T T | T
0 O B s 1 D407 1852407 20407
Igi1
Tobacoo Ig11 and tomato chOF
*
T T T | T
0 O 000 B s 1 D407 1852407 20407
Igi1
Tobacco Ig11 and tomate chil
T T T | T
0 O 4000 B s 1 D407 1852407 2047

Igi1

chixz

chis

chie

chi1

Tobacco 1911 and tomato chO2

OO0

5 D400

Tobaceo lg11 and tomate chOs

108407

Ig11

1 S 07

2 0s407

2o 0T deadT Seg 07
1 1 1

D=y 00
1

5 Oe=g 000

Tobacco Igi1 and tomato chiE

1 0e4007

Ig11

1 Ses7

1
2 D407

S 07 deddT  GegddT
1 1 1

Dl 000
1

B Des400

Tobacco Ig11 and tomato chid

1 0=407

Igi1

1 Se407

1
20s407

1 0407

Ig11

1 S 07

2 0e407

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco Ig11 and tomate cho3

T T T T
0 e 00 =R T . 1 O 07 1 S 07 2 e 07

Igi1

Tobaceo 1911 and tomate ch0s

T T T T
0 0=400 B D=0 1 D7 1 8= 07 2 D07

Igi1

Tobacoo Ig11 and tomato chCS

L L]

T T T T
00=400 = n N RN ] 1 D7 1 S 07 2 D= 07

Igi1

Tobacco Ig11 and tomate chi2

0 Q400 5 D0 1 Qe 07 1 S 7 2 D07

Igi1



chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco 1912 and tomate chiH

00400

Igiz

Tobaceo 1912 and tomate chid

1 D47 2 De4 07

Igiz

Tobacoo 1912 and tomato chOF

1 De407 2 0s407

Igiz

Tobacco 1912 and tomate chil

1 Q=407 2 De4 07

Igiz

chixz

chis

chie

chi1

O 0 207 dedd7T  GesdT

Dm0 Dedd7T  desd7 ST

Tobacco 1912 and tomato chO2

OO0

108407 2 0s407

Ig1z

Tobaceo 1912 and tomate chOs

1 0e4007 2 D47

Ig1z

Tobacco Ig12 and tomato chCE

1 0=407 20s407

Igiz

Tobacco Ig12 and tomato chid

1 0407 2 0e407

Ig1z

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco 1912 and tomate chO3

Igiz

Tobaceo 1912 and tomate ch0s

0 Q400

Igiz

Tobacoo 1912 and tomato chCS

Igiz

Tobacco 1912 and tomate chi2




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig13 and tomate chid

00400

Igiz

Tobaceo 1913 and tomate chid

Igiz

Tobacoo Ig13 and tomato chO7

Igiz

Tobacco Ig13 and tomate chil

chixz

chis

chie

chi1

O 0 207 dedd7T  GesdT

Dm0 Dedd7T  desd7 ST

Tobacco Ig13 and tomato chO2

OO0

108407 2 D07 3 0s407

g1z

Tobaceo lgi13 and tomate chOs

1 D07 2 D407 3 0e407

g1z

Tobacco Igi13 and tomato chiE

1 0407 2 0407 30s407

Igiz

Tobacco Ig13and tomato chid

I

1 D07 2 D07 3 0e407

g1z

chiz

chia

chim

chiz

Tobacco Ig13 and tomate chO3

SE4lT dEddT ST
| 1 1

[t ]
1

0 Os400

1 D407 2 0s407

Igiz

Tobaceo 1913 and tomate ch0s

30s407

0 Q400

1 D07 2 D47

Igiz

Tobacoo Ig1 3 and tomato chCS

3 Oe407

Se4lT  desdT SesdT
1 l ]

D0
1

Igiz

Tobacco Ig13 and tomate chi2

SE4lT deEddT e
1 1 1

DT
|

Igiz




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig14 and tomate chid

T g

00400

5 D=0 108407 1 S 07

Igi4

Tobaceo 1914 and tomate chid

5 D00 1 D07 1 S 7

Igid

Tobacoo Ig1d and tomato chOF

B D400 1 0407 1 S 07

Igi4

Tobacco Ig14 and tomate chil

B Dm0 1 D07 1 S 7

Igi4

chixz

chis

chie

chi1

Tobacco Ig14 and tomato chO2

OO0

=] 1 D407 1 S 07

Ig14

Tobaceo lg1d and tomate chOs

2o 0T deadT Seg 07
1 1 1

D=y 00
1

5 D400 1 D07 1 Sed7

Ig14

Tobacco lg1d and tomato chCE

S 07 deddT  GegddT
1 1 1

Dl 000
1

5 D400 1 D407 1 Sed7

lgi4

Tobacco Ig1d4 and tomato chid

5 D08 1 Qe 07 1 S 7

Ig14

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco Ig14 and tomate chO3

I | I
0 Os400 5 D400 108407 18407

lgi4

Tobaceo 1914 and tomate ch0s

I 1 1
0 Q400 5 Oe=g 000 1 D07 1 5e407

Igid

Tobacco Ig1d and tomato chCS

Y

I 1 1
00400 B Des400 1 0407 1 8e407

Igi4

Tobacco Ig14 and tomate chi2

lgi4



chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig15 and tomate chi

00400

I I | | T T
108407 2 0e4 07 3 0s407

Igis

Tobaceo 1915 and tomate chid

I T T | T T
1 D=7 2 D07 3007

Igis

Tobacoo Ig15 and tomato chOF

I I | | T T
1 007 20e407 20407

Igis

Tobacco Ig15 and tomate chil

1 0407 2 D407 30407

Igis

chixz

chis

chie

chi1

O 0 207 dedd7T  GesdT

Dm0 Dedd7T  desd7 ST

Tobacco 1915 and tomato chO2

T T T T I
1 O 07 2 0407 3 0e4 07

Igis

Tobaceo lg15 and tomate chOs

T T T T I
1 D07 2 007 3 0E407

Igims

Tobacco Igi15 and tomato chi

1 D47 2 0407 3 0e407

Igis

Tobacco Ig15and tomato chid

1 Qe 07 2 D07 3 0407

Igis

chiz

chia

chim

chiz

Tobacco Ig15 and tomate cho3

SE4lT dEddT ST
| 1 1

[t ]
1

2 D407 3 0s407

Igis

Tobaceo 1915 and tomate ch0s

0 Q400

I T T T T ]
108407 2 e 07 3 0s407

Igis

Tobacoo Ig15 and tomato chCS

Se4lT  desdT SesdT
1 l ]

D0
1

2 D407 3 0s407

Igis

Tobacco Ig15 and tomate chi2

SE4lT deEddT e
1 1 1

DT
|

Igis




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig16 and tomate chiH

0 O+ 1 0=4007 2 Os407 S0=4+07
Igia
Tobaceo 1916 and tomate chid
T T T T 1 T
0 O 1 0e407 2 07 3 Os+07
Igia
Tobacoo Ig1& and tomato chOF
T T T T 1 T
0 O 000 1 0e407 2 Os 07 0=407
Igia
Tobacco Ig16 and tomate chil
T T T T 1 T
0 O 4000 1 0= 07 2 O=07 30=4+07

Igia

chixz

chis

chie

chi1

Tobacco 1916 and tomato chO2

2o 0T deadT Seg 07
1 1 1

D=y 00
1

S 07 deddT  GegddT
1 1 1

Dl 000
1

0 e+ 1 =407 2 Oe4 07 30=407
Igis
Tobaceo lgi16 and tomate chOs
L T | T T T
0 O+ 1 D407 2 Oea7 3 0=
Igia
Tobacco Igi16 and tomato chiE
L T | T T T
0 O+ 1 D407 2 Oe4 07 3 0=407
Igia
Tobacco Ig16 and tomato chid
T T |- T T T
0 e+ 1 D407 2 Oea 7 30=407
Igis

chiz

chia

chim

chiz

Tobacco Ig16 and tomate chO3

SE4lT dEddT ST
| 1 1

[t ]
1

Se4lT  desdT SesdT
1 l ]

D0
1

SE4lT deEddT e
1 1 1

DT
|

0 0=+ 1 0=4007 2 Os407 3 0e4+07
Igia
Tobaceo 1916 and tomate ch0s
T T T T |
0 =0 1 0e407 2 07 3 Oe407
Igia
Tobacoo Ig1& and tomato chCS
T T T T I
0 =m0 1 0e407 2 Os 07 3 0=407
Igis
Tobacco Ig16 and tomate chi2
T T T T I
0 =0 1 0= 07 2 O=07 30407

Igia



chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig17T and tomate chid

00400

1 D407 2 0s407 3 0s407

Ig17

Tobaceo 1917 and tomate chid

1 D07 2 De4 07 3 0e4 07

Ig17

Tobacoo 1917 and tomato chO7

1 D07 2 0s407 3 0e407

Ig17

Tobacco Ig17 and tomate chil

1 D07 2 De4 07 3 0e4 07

Ig17

chixz

chis

chie

chi1

Tobacco 1917 and tomato chO2

- * ~h
o LT
P —— pm'
- .
. S
I | I I I I
[nfa_N¥ 1] 1 D07 2 e 7 3 007
Ig17

Tobaceo 1917 and tomate chOs

2o 0T deadT Seg 07
1 1 1

D=y 00
1

1 D47 2 D47 3 0e4 07

Ig17

Tobacco Igi17 and tomato chCE

S 07 deddT  GegddT
1 1 1

Dl 000
1

1 D47 20s407 30407

Igi7

Tobacco Ig17T and tomato chid

1 Qe 07 2 0e407 30407

Ig17

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco Ig17 and tomate chO3

2 0s407 30s407

lgi7

Tobaceo 1917 and tomate ch0s

2 De4 07 30e407

17

Tobacoo 1917 and tomato chCS

2 0s407 30=407

Igi7

Tobacco Ig17 and tomate chi2

lgi7




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco 1918 and tomate chi

chixz

0 O+ 1 =407 20407 3 0e407
Igis
Tobaceo 1918 and tomate chid
B T T T |
0 O 1 Oea07 2 Oe407 30407
Igis
Tobacco Ig18 and tomato chO7
B f - T T |
0 O 000 1 =407 2047 3 0e407
Igie
Tobacco I1g18 and tomate chil
- ‘ ;
B T T T |
0 O 4000 1 D=7 2 047 30407

Igis

O 0 207 dedd7T  GesdT

Dm0 Dedd7T  desd7 ST

Tobacco 1918 and tomato chO2

0 e+ 1 D=7 2 Os407 30=+07
Igis
Tobaceo 1918 and tomate chOs
T T T T |
0 O+ 1 D7 2 07 3 0=H07
Igi=
Tobacco Ig18 and tomato chiE
T T T T |
0 O+ 1 D=7 2 Os 07 30=407
Igi=
Tobacco Ig18 and tomato chid
T T T - T |
0 e+ 1 D=7 2 O=07 30=+07
Igis

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco 1918 and tomate chO3

0 0=+ 1 Oe4007 2 Oe4 07 30407
Igia
Tobaceo 1918 and tomate ch0s
1 T T T
0 =0 1 Oe407 2 Oea7 3 0e407
Igi=
Tobacoo Ig18 and tomato chCES
1 I T T
0 =m0 1 Oe407 2 Oe4 07 30407
Igie
Tobacco I1g18 and tomate chi2
1 I T T
0 =0 1 D=7 2 Oea 7 3047

Igia



chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco Ig19 and tomate chid

_....-urll""ﬂ-

00400

1 D407 2 D07

Igi=

Tobaceo 1919 and tomate chid

3 0s407

1 D07 2 D407

Igi=

Tobacoo Ig19 and tomato chOF

3 0e407

1 D07 2 0407

Igia

Tobacco 1g19 and tomate chil

30s407

1 D07 2 D07

Igi=

3 0e407

chixz

chis

chie

chi1

O 0 207 dedd7T  GesdT

Dm0 Dedd7T  desd7 ST

Tobacco 1919 and tomato chO2

0 e+ 1 =407 2 Oe4 07 30=407
Igi=
Tobaceo lg19 and tomate chOs
T T T T T ] T
0 O+ 1 D407 2 Oea7 3 0=
Igi=
Tobacco lg19 and tomato chCE
T T T T T ] T
0 O+ 1 D407 2 Oe4 07 3 0=407
Igi=
Tobacco Ig19 and tomato chid
T T T T T ] T
0 e+ 1 D407 2 Oea 7 30=407

Igi=

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco I1g19 and tomate cho3

0 0=+ 1 0=4007 2 Os407 3 0e4+07
Igi=
Tobaceo 1919 and tomate ch0s
1 | T T T T
0 =0 1 0e407 2 07 3 Oe407
Igi=
Tobacoo Ig19 and tomato chCS
R Ee = .
I T T T T T
0 =m0 1 0e407 2 Os 07 3 0=407
Igi=
Tobacco Ig19 and tomate chi2
I T T T T T
0 =0 1 0= 07 2 O=07 30407

Igi=



chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco 1g20 and tomate chiH

00400

Tobaceo 1920 and tomate chid

5 D00 1 D07 15=4007 2 D47

Igen

Tobacoo 1920 and tomato chOF

B D400 1 0407 1 8=407 20s407

Igeo

Tobacco 1920 and tomate chil

B Dm0 1 D07 1 8e407 2 0e407

chixz

chis

chie

chi1

Tobacco 1920 and tomato chO2

OO0

=] 1 D407

Igen

1 S 07

R

Tobaceo 1920 and tomate chOs

2o 0T deadT Seg 07
1 1 1

D=y 00
1

5 D400 1 D07

Igen

1 Sed7

2 D07

Tobacco 1920 and tomato chCE

S 07 deddT  GegddT
1 1 1

Dl 000
1

5 D400 1 D407

Igeo

1 Sed7

2 0e4 07

Tobacco 920 and tomato chid

5 D08 1 Qe 07

1 S 7

2 D47

chiz

chia

chim

chiz

Tobacco 1920 and tomate chO3

SE4lT dEddT ST
| 1 1

[t ]
1

0 Os400

5 D400

1 D407

Igen

15407

2 D07

Tobaceo 1920 and tomate ch0s

0 Q400

5 Oe=g 000

1 D47

Igen

15=4007

2 D407

Tobacoo 1920 and tomato chCS

Se4lT  desdT SesdT
1 l ]

D0
1

00400

B Des400

1 De407

Igeo

1 8=407

2 0407

Tobacco 1920 and tomate chi2

SE4lT deEddT e
1 1 1

DT
|

0 Q400

B e 00

1 Q=407

1 8e407

2 D07




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Ze407  de 07 ST

Tobacco 1g21 and tomate chid

Tobaceo 1924 and tomate chid

Tobacoo 1921 and tomato chO7

Tobacco I1g21 and tomate chil

chixz

chis

chie

chi1

2o 0T deadT Seg 07

Tobacco 1921 and tomato chO2

Tobaceo 192 and tomate chOs

Tobacco Ig21 and tomato chCE

Tobacco 1921 and tomato chid

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

SE4lT deEddT e

Tobacco 1g21 and tomate chO3

O0s+00 508400 | 0s407 1 S5s407 208407 25s407

Ig=1

Tobaceo 1924 and tomate ch0s

00s400  S0s400 1 0e407 | Sedd7 Z0e407  Z25e407

Ig21

Tobacoo 1921 and tomato chCS

00s400  S0s400 1 0s407 | Ssdd7 208407 2 Ss407

Ig21

Tobacco I1g21 and tomato chi2




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco 1922 and tomate chiH

Tobacoo 1922 and tomate chid

Tobacoo 1922 and tomato chO7

Tobacco 1922 and tomate chil

#

chiz

chis

chie

chi1

Tobacco 1922 and tomato chO2

2o 0T deadT Seg 07
1 1 1

Tobaceo 1922 and tomate chOs

D=y 00
1

S 0T desdT
1 1

Tobacco 1922 and tomato chCE

Dl 000
1

Tobacco 1922 and tomato chid

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco 1922 and tomate chO3

D400 1407 Ses? Se407 4e407
lg==
Tobacoo 1922 and tomato chCE
- T T T |
D400 =407 Sel7 Se407 424007
lge=
Tobacco 1922 and tomate chi2
- T T T |
s 1e407 D407 Ss407 4407




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Oeg0 207 ded07 ST

Tobacco 1923 and tomate chiH

00400

Tobaceo 1923 and tomate chid

Tobacoo 1923 and tomato chO7

Tobacco 1923 and tomate chil

chixz

chis

chie

chi1

Tobacco 1923 and tomato chO2

OO0

Tobaceo 1923 and tomate chOs

2o 0T deadT Seg 07
1 1 1

D=y 00
1

Tobacco 1923 and tomato chCE

S 07 deddT  GegddT
1 1 1

Dl 000
1

) . R
oy,
. -
I 1 I 1 I I
0 Os-00 1 D407 2 De407 30s407
Ig=3

Tobacco Ig23 and tomato chid

chiz

chia

chim

chiz

Tobacco 1923 and tomate chO3

SE4lT dEddT ST
| 1 1

[t ]
1

0 Os400

Tobaceo 1923 and tomate ch0s

0 Q400

Tobacoo 1923 and tomato chCS

Se4lT  desdT SesdT
1 l ]

D0
1

Tobacco 1g23 and tomato chi2

SE4lT deEddT e
1 1 1

DT
|




chl

chid

chor

chio

OO 2ed7 dedd7 ey

D0 2eg 07 ded 07 Geldr

Ze407  de 07 ST

Tobacco 1g24 and tomate chiH

Tobaceo 1924 and tomate chid

Tobacoo 1924 and tomato chO7

chixz

chis

chie

chi1

2o 0T deadT Seg 07

Tobacco 1924 and tomato chO2

Tobaceo 1924 and tomate chOs

Tobacco 1924 and tomato chCE

Tobacco Ig24 and tomato chid

chiz

chia

chim

chiz

Ol D07 dedd7 ST

D0 2El7  desdT SesdT

Dol D07 dedd7  GesdT

Tobacco 1924 and tomate cho3

Ofs+00 B0s+08  |0e407 155407 202407 25e407
Iged
Tobaceo 1924 and tomate ch0s
- T T T T T
Ofs+0 B0s408  0e407 15407 208407 285407
Iged
Tobacoo 1924 and tomato chCS
- T T T T T
Ofs+0 B0s408  0s407 18407 202407 285s407
Ige4
Tobacco 1924 and tomate chi2
- T T T T T
Ofs+d0 B0s+08  |0e407 185407 20407 285e407
Iged



